CHARACTERISTICS OF LIFE
In your notebook:

Create a graphic organizer, something like this:
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Include the major functions of life and what they are used for.
Then organize the characteristics and make connections.  Be sure to give a specific example of each.



ON THE BACK OF YOUR GRAPHIC ORGANIZER, answer the following:
1.  How is a candle like a living organism?

2. How is a candle not like a living organism?
[image: ]
3. What is the diagram above showing?




4. List and describe each of the characteristics that are exhibited by the diagram above.
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Graphing Practice - Problem 2
PH of water Number of tadpoles

8.0 45

75 69

7.0 78

65 88

6.0 43

55 23

A. Make a line graph of the data.
B. What is the dependent variable?

. What is the independent variable?
. What is the average number of tadpoles collected per sample?
. What is the optimum water pH for tadpole development?
. Between what two pH readings is there the greatest change in tadpole
number?
G. How many tadpoles would we expect to find in water with a pH reading
0f5.0?
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Graphing Practice — Problem 1

Average thickness of | Average thickness of
the annual rings in cm. | the annual rings in em.
Forest A Forest B

10 2.0 22
20 22 25
30 35 36
40 3.0 38
50 45 4.0
60 43 45

Age of the

tree in years

A. The thickness of the annual rings indicates what type of environment
was occurring at the time of its development. A thin ring usually
indicates a lack of water, forest fires, or a major insect infestation. A
thick ring indicates just the opposite.

. Make a line graph of the data.
What is the dependent variable? |
What is the independent variable?
What was the average thickness of the annual rings of 40 year old trees
in Forest A? in Forest B?
Based on this data, what can you conclude about Forest A and Forest B?

The dependent variable is

The independent variable is 2





